OPAKOVANIE UČIVA NA 1. ŠKOLSKÚ PÍSOMNÚ PRÁCU
1. Dané sú čísla:   7;    -8,3;    0;     
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Napíš k daným číslam opačné čísla a tie usporiadaj zostupne.

2. Porovnaj čísla: 

a) – 6,2 a 8,1

c) – 0,9 a 
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e) – 5,1 a – 5,9
g)    0 a –1 5


b)  9,3 a - 5,4

d) – 1,79 a  –1,72

f)   2 0  a  – 6
     
h) – 0,8   a 
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3. Vypočítaj:

a) 83 – 175 =



g) 8 . (- 7) . 3 . (- 6) . 0,7 =

b) –214 – (–45) =


h) – 72 : 9 + 7 . ( - 5) + 43 =

c) 
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i) 78 : ( 8 + 2) - │ - 2 + 8 │ =

d) –6 . (– 3,4) =


j) – 5,2 – 2,8 + (– 7,4 ) – (– 0,6 ) =

e) 56 : ( – 8) =



k) – 4 . 6 + 7 – (– 2 ) : (– 2) =
f) –8,1 : (–90) =


l) [image: image6.png]



4. Vypočítaj:

a) ([image: image8.png]
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 ) : [image: image14.png]




b) [image: image16.png]
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c) [image: image22.png]
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d) [image: image26.png]12
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	e) 
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f) 
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